| HW5 due Friday, Mar 1
Turn in 3.1#5
Practice 3.1#2, 3.1#3, 3.1#9cd, 3.2#ef, 3.2#2ab, 3.2#6
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5. Let x, > 0O for each n in N; let x be in R with x, — x. Note that x > 0.
Show that /x, — /x. [Hint: Make two cases: x = 0 and x > 0. In the
latter case, rationalize.]
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9. Establish the following limits.
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- 1. Find the limits of the following sequences.
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2. Give examples of two sequences that do not converge but whose

(a) sum converges.
(b) product converges.

)

Br o=t o oz ot T aifin [onem MY

B

.MM l@u’r‘dlvﬂ v hiw (\'W—W\l =0 —p

N w W= bo N2

L oM

WW ol QPK—\)“.TWM Wit () ey T

Onemy ooy bwk He produck

< \ 1 < _'L“

niw = = =

Ytf=iBj"""""""‘Jvx;;JD()"""“““““““‘{*74,P4k)

LN

6. Let (x,),ex be a bounded sequence in R (not necessarily convergent), and
let (yn),en be a sequence in B with y, — 0. Show that (x, y,),cx converges
to 0.
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